25.1.14. @ 9:37 QIAY : o] =

or=133
"= ) LTk, 32 7|S 227t hA|
Lt

21212025.01.13. 2= 5:18 £782025.01.14. 2% 12:56

Q121 B| 8- AT X} 245
104 AY HFO| 2 AIZE 108 A4t
20| 27]7] HX|HQl 2

AEZ|Z, CDMO 44 FT

o
c 0%
O o0z

T b rx

A+ S LY
10| =11 :
Ztto] MZFet Hict Sojoll 5

0|2 7|gofl RES HELRE HEFTH= 240] Li2L.

e -

-Hf
H| 2

ot=

= 19 O

[

7

—_—

BEE2 K= QIE 2 TSSH= K-HIo|2
L ey 18
e | 23A
COMO g5t Mg
100 BIX|Hol Mg
. Aol MY

20154

20244

T EHHI0|8E] STl s | 2o

https://n.news.naver.com/article/print/015/0005081539

1/4



ol FA

A

25.1.14. 2 9:37

| ARt UV HE

2{AL FIL El A0 Q& T} AL A 72

mujn

oln.

FO|Ct.

O
MY

EE|I

2050412l02 X} Sl

—
—

O[tH 7|of #2

1990'ALH

=
—

13()E| “Io_IE

CHH “0|2H &|2F-HHo| 2 |

ANAE CHE

REESES

N

E-l-”_T'_

10l

== e

LS

ol
—

0| =2 H0[2tH “FHI| @247} HO| FHUME
K| @5= =97 1"2tad ULt 0]0f “Ql== A[E EHAMEO| 2 Lict

ol

Ct.

=
10

afl

F

E &70|2t1

H

RO

=

ul
XM

_l

V)

od
F1
K

K| = At} g%

&

-
o]

100 M B GAH AT QA AlE

= Al

QIS R|of-Bt0| 4t

Of=
20|

0] Ct=E 21 H[<f-HIO| 24t 2= 2015 10

0 E2{(2f 1450004 2)0i| A X|'tsH 13009 E 2= & HY EHAH =04

oiz

—e
ot

Ct.

2/4

https://n.news.naver.com/article/print/015/0005081539



s HlolH w2

A

25.1.14. 2™ 9:37

Of

—

—

OfLt

L—

=

2 50| 2 7|0]

)

—

SF9 Le=T|E

o

L—
—

b AL
o

X
o

A

|.

AAL

ot=

ot
o

=

X
—

0l

FLE MAIOM 7+ B

B CIPN = |

H

AN

OfCt.

—_
o

-

=)

Al

I.

AP ZZE|OH= S8l A ofie] &S =0 X|

27| Het2 tHEX Q15 H[2| Al

|=717] Al & otLte! =0 7S

L)
— =

ANIAM 7HE W= AH -SESE

O
O —

A

=

£ 100% X2

A

A
(bl

q

EZ
=

A

e
=

=

2 ?IE7HE(CDO) MH|A S MSoE 1t

Hol= 20| SH2tY

TINAR, Z2E[0} SO| FAHEL AE A2
= 2EE|22 CDMO g|ARl HEZ|2H[0[2

Eglgdse

Ml
=
X 50004 HO|

K|
O -

]

—_
o

A

10| ZH|=0[2fn AEHIUCY.

ZEA| KL

t 747710 HEHSICPH “2 2

F

Of 2t sl HHO| A

A=

Al

31 7|X} peux@hankyung.com

L
[= )

3/4

https://n.news.naver.com/article/print/015/0005081539





